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General Instructions :

1 Candidate must write his’/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions
are in sequential order.

3 Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4 Write your Question Paper Code No. 63/0SS/1, Set— on the Answer-Book.

5 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility for
any errors/mistakes in understanding the question will be yours only.
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Note : (i)  All questions are compulsory.

(il)) Marks allotted are indicated against each question.

(iii)) Each question from Question Nos. 1 to 10 has four alternatives - (A), (B), (C)
and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your Answer-Book against the
number of the question. No extra time is allotted for attempting multiple choice
questions.

(iv) Use log tables, if necessary.

et . () AW w9l & TTR QT |

(i) UAP UeT % G IHb 3 9 T ¥ |

(iil) W @M 1/ 10 ¥ y&% 999 ¥ 9 faded — (A), (B), (C) dur (D) ¥, fo=s
Y TH G99 SUgEd © | A faeed § | @€ ST g aun oAl SaX-gRaet
H o W % G X € | Sg-Taened! Ul o fod Stfiea g9a el fan
ST |

(iv) 3l emasasw &, O @ e B TAT B |
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1  The Shape of orbital with the value 1 =2 and m = 0 is : 1
(A) Spherical (B) Dumb-bell
(C) Trigonal planar (D) Square planar
| =2 3R m= 09" & Y HAH P B &A ¢ :

(A) T (B) ==«
(C) Prari fefrfE (D) = |HAd!
2 The momentum of a particle associated with de-Broglie’s Wavelength of 1
6A° is -
(A) 1.1 x 1024 Kgm s~! (B) 1.1x10%* Kgm s7!
(C) 39.6x10734 Kgm s! (D) 39.6x10724 Kgm s°!

3 el TR 6A° ¥ Al BT DBl GAT T —

(A) 1.1 x 1024 Kgm s (B) 1.1x103* Kgm s!
(C) 39.6x10734 Kgm s7! (D) 39.6x10724 Kgm s7!
3 The rate of diffusion of methane at given temperature is twice that of a gas X. 1

The molecular mass of X is :

(A) 32.0 (B) 4.0

(C) 64.0 (D) 8.0

e fou T amg uX Hiew % fqeer @ X T X @ ga | & T 7 | X @ St
TN T

(A) 32.0 (B) 4.0

(C) 64.0 (D) 8.0
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4  Which of the following expressions regarding the units of coefficient of

viscosity is not true ?

(A) dynes cm? S (B) dyne cm? S!

(C) Nm? S (D) Poise

AT &% TUIh BT S % g Frfelad ¥ § w1 =we 98 1@ ¥ ?
(A) dynes cm? S (B) dyne cm? S7!

(C) NmZ S (D) Poise

5  Degree of ionization does not depend on :
(A) Nature of solvent
(B) Nature of electrolyte
(C) Dilution
(D) Molecular weight of the electrolyte
fo@asT Aen feg X R R wa g 7
(A) Tqama® & Fepid

(B) <ga su=ed ol ypid

(C) aga
(D) faga & amifas v

6  For which the formula o =X, /A, does not hold good ?

(A) CH;COOH (B) HCOOH
(C) HCIO, (D) CH;NH,
g3 o =A, /A, feaw fag omer 7@ Bar § ¢

(A) CH;COOH (B) HCOOH
(C) HCIO, (D) CH;NH,
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7 Which of the following gives carbon with concentrated H,SO, ? 1

(A) Ethyl alcohol (B) Starch
(C) Formic acid (D) Oxalic acid
frfafea & @1 @i H,SO, % 919 &EA aar & ?
(A) TioE el (B) =d
(C) wiffe ufre (D) eTwRifa® TS
8  Which are the constituents of gun metal ? 1
(A) Cu, Sn (B) Cu, Sn, Zn
(C) Cu, Sb, Pb (D) Cu, Sn, Sb
T % TCH HA-F &
(A) Cu, Sn (B) Cu, Sn, Zn
(C) Cu, Sb, Pb (D) Cu, Sn, Sb
9  Ethanol can be distinguished from methanol by the use of : 1
(A) Tollen’s reagent (B) Fehling’s solution
(C) I, + NaOH (D) AgNOs(aq)
T Bl HigAE d fqufed 9 Tan &k fhar S dadn © ¢
(A) T AHHS (B) few faees
(C) I, + NaOH (D) AgNO; (Si)
10  C,H,CHO+CH,CHO—4NO! ;¢ 5 ¢ = CHCHO is called : 1
(A) Claisen Condensation (B) Benzoin Condensation
(C) Perkin Reaction (D) Cannizaro reaction

aifHfFar ¢ H,CHO + CH,CHO— N0 ¢ 1 ¢ = CHCHO ®eerd ¥ :

(A) oS O (B) <=3 EAA
(C) ufea srfufsran (D) hiveml sttt
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11 If the elemental analysis of butyric acid is found to be 54.2% C, 9.2% H 2
and 36.6% O, determine its empirical formula.
i FLINH TR a1 difcass fasewor 9 54.2% e, 9.2% sEgee siX 36.6%
SATERIST Ul STl & Al $9T a3 Metag |

12 What is molar mass of substance ? How many elementary entities are present 2
in it ?

U g @l HidY S9N R BT § 7 3aW fehanl Hifve wad gy ¥ O?

13 What is the wavelength of light emitted when the electron in a hydrogen atom 2
undergo transition from an energy level n =4 to an energy level with n=2?

W T RSN YA B FAHE SHoll W n=4 § Foll @ n=2 U T E
ST JBIST BT TR HT Bl § 7

14 Explain the dependence of molecular speed on the molar mass of the gas. 2

T & A\ SgEE UX AT TG @) MHRar & e sy |

15 What is the basic difference between enthalpy of formation and enthalpy 2
of reaction ? Illustrate with suitable examples.
g9 @ U o erfufhar & ddwh &% S o w9 ofax ® 7
S ereXl Hied HHHAEY |

16 Complete the following reactions : 2
(i) Cl, + H,0, + 2KOH —
(i) 2 FeSO, + H,SO, + H,0, —
Frrfoatea siffparstt @ ol #Hifvg :
(i) Cl, + H,0, + 2KOH —
(i) 2 FeSO, + H,SO, + H,0, —
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17 Giving example for each explain the following reactions : 2
(i) Hofmann’s bromamide reaction
(ii)) Wolffkishner reduction
SETE L FrfaRad siffparet @1 aue difg
(i) TTRaE-SEEEsS sTfafhar

(i) qEH—TheTX STuaa

18 Name the polymer obtained by reaction of ethylene glycol and terepthalic 2
acid. Give chemical equation.

3 Tzl oY XA Tfes &l AR & Wa & A agad @bl
T SAEY | TS DT ST |

19 Give two important uses of each of the following : 2
(i) Bakelite
(i1)) Nylon-6
frfefed gie & & Fecayel SHEnT AT
(i) wehamEe

(i) -6

20 What mass of NaCl must dissolved in 65.0g of water to lower the freezing 4

point of water by 7.50 “C ? The freezing point depression constant (Kf)
for water is 1.86 °C/m. Assume Van’t Hoff factor for NaCl is 1.87.

(Molar mass of NaCl = 58.5g mol1)

W & fedie @l 7.50 °C &7 & & fw NaCl &1 foham geqq= 65.0 g e &
foolg wem TiRkT ? W@ & U Ruie erae Remiw (Kf) 1.86 °C/m ¥ |
7 fafsim NaCl & g are &% &Re 1.87 & |

(NaCl &1 9iex g™ 58.5 g mol! %)
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21 Define enthalpy of formation from the data given below, calculate the 4

standard enthalpy for the reaction.
2H,0() — 2H,0(/) + O,(g)
Is it an exothermic or an endothermic reaction ?

Given : AHY(H,0,(/)= -1 88kJmol'; AH{(H,O(]) = —286kJmol ™",
AH?(0,(g) = OkTmol ™.

G B I w g Hive | S i o el @ erfufean % fau
A TIHT &l URehiad BT | 7 I8 S9Nl & a1 SoATedy & 7

fear T ® 0 AH(H,0,(/) = —188kImol™'; AHO(H,O(/) = —286kJmol ',

AH?(0,(g) = OkJmol ™.

22 (a) Electrode potential of metals A, B, C and E are given below. 4

N
AT/A=—2.93V, % =+0.80V C'/C=0.79V.D"/D=-2.37V and
E"/E=—0.74V .

Arrange the metals in increasing order of reducing power.

Give reason of your answer.

(b) What are amphiprotic species ? Name the amphiprotic species in the

given reactions.

HCO;5(aq)+OH (aq) = COg_ (aq)+H,0()

H,CO;(aq)+ CN (aq) = HCO;5(aq) + HCN(aq)
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(a) A, B, C 3R E argei & soazis v T g ™ € |

+

A+/A=—2.93V,%: +0.80V C'/C=0.79V.D"/D=-2.37V aix

E"/E=—0.74V .
3T UGSl Bl AR AT & Tod §T HH H FARYT HIY |
3T IAX BT Bl o v |
(b) SwIWifes TS =1 Bl & 7 & g srtuiseare  Swaifes wiie @1
I gaEy |

HCOj5 (aq) + OH (aq) = CO3 (aq) + H,O(/)

H,CO;(aq) +CN (aq) = HCO;5(aq) + HCN(aq)

23 (a) Draw the structures of the following : 4
(i) H,S,04 (i) HCIO,
(b) Explain the following :

(1)  Sulphur has a greater tendency for catenation than oxygen.
Why ?

(i) F, is a stronger oxidizing agent than Cl,. Why ?
(a) TaRId & §EAT @ifag :

(i) H,S,0q (i) HCIO,
(b) Fr=fiea @1 e Hifvy :

(i) U B JEAT &I SRS Bl YT b T T |
w7

(i) F, Cl, & ga # yaaaq Sl sl & 7

63/0SS/1-313-A | 9 % [ Contd...



24 A black coloured compound [A] of manganese when fused with KOH under 4
atmospheric oxygen gave a green coloured compound [B]. When compound
[B] is treated with an oxidizing agent (chlorine), it gave a purple coloured
compound [C]. When compound [C] is kept in water for a day it gave brown
coloured compound [D]. Identify A, B, C and D and also write chemical
equations.

HE &% B T % T AR A B KOH & a1 argsaig stiais sl surafd
¥ Tifera fepam <Tan & @Y I B 1 @1 A [B] <A ® | S Aifies [B] @i oTeRiRRe
(FAEF) | SUERd HX & ar A [C] 31 ¢ | 19 aifes [C] &l & & & g
I H TG W E AR 31 % A [D] ¥ E 1A, B, C @R D # vgae st
3R TEEfTs FHwmn & faRag |

25 (a) Identify the groups with —I and + I effects from the following spices : 4

—(CH3)3 C - NO,™ C,H5 and C¢Hs

(b) Arrange the following with decreasing order of reactivity with alcohols.
Give also suitable reason.
R;CCOOH, CH;COOH, R,CHCOOH, RCH,COOH

(a) Fr=fafag diehsi & @ — 1 o + [ yw a0 99 Jearg :
—(CH3)3 C - NO,™ C,Hs, CcHj;

(b) FrefaREd ® Twpreidl d Ted g3 FRATYAAT & Ha # FARIT HINT |
Sfad s |l AT |
R;CCOOH, CH;COOH, R,CHCOOH, RCH,COOH

26 (a) Nitration of aniline is carried out on the acetylated amine (acetanilide) 4
rather than on the amine itself. Why ?

(b) Write the main products when phenol reacts with Br, in aqueous solution
and in carbondisulphide.

(a) T BT BT Gerd THI U T2 LI 0T o ardien TEifera i (T feze)
W S & 1 =&l ?

(b) T swms faRay 5@ Rt Br, & (F1F) ¥ SR fawem o sesEasss
7 arffRar e § |
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27 (a) Write the rate law for a first order reaction. Justify the statement that 6
half life for a first order reaction is independent of the initial concentration

of the reactant.

(b) For a first order reaction, show that the time required for 99% completion
of the first order reaction is twice the time required for the completion
of 90%.

(a) wuw wife @ arfufhan & fu X fraw fafaw | 39 ®u= &1 ofifac a9smET 6
wo sife eifafhar & fog srefemgera atfeties @l urthves |isar X frf 2%
HAT T |

(b) UH wum Hife srtufear & T 39z o6 wow wife aifaforar & 99% qui 89 o
M T 386 90% YO N H T qHF BN QN IAT BT 2 |

28 (a) Write the structures of A, B, C and D in the following reactions : 6

Mg COy (1)NH3
CH;Br——=—A ot B—>C

lsoci,
D

(b) Give simple chemical test to distinguish between :
(i) Benzoic acid and phenol

(i1)) Propanol and propanone

(a) TfaRaa srtufeatet & A, B, C 8k D & M oiX ¥@=¢ farey :

Mg CO» (1)NH3
CHBr—is A 2o B0

lsocy,
D

(b) Frfaiad & 9 9% H & fow wxa TEEtE gl f\iag -
(i) dviz® o iR BHT
(i) W ofR wuse
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29 Write name, the geometry and magnetic behaviour of each of the following 6

complexes :

(i) [Pt (NHz), CINO,]

(if) [Co(NH;), CLICI

(iii) Ni(CO),

Pretffiad s Gl % A, SRR iR R wEeR T
(i) [Pt (NHz), CINO,]

(if) [Co(NH;), CLICI

(i) Ni(CO),

30 State the posulates of valence shell Electron pair Repulsion theory. What is 6
the order of repulsive forces between different type of electron pairs ?
What is the expected geometry of molecules AX,, AXs and AX, ? Give one

example of each.

TAISTRaT HIT Seaz g gl (VSEPR) fasia &1 stagrond fafeg | fafr=
TR o SGLI gl b STe FIaHyT g &1 HH w1 e ¢ AX,, AXs 3R AX TR
% S B WG AT FT § 7 Y% BN Th-—Th SaTeI Qg |
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